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e Note :— )
1. Part ‘A’ may be attempted in first 6 pages of AnSWE{' Sheel. :
VI % & i} geR, SoN-gier & gem o g8l 4 & avd &l
2. Part 'B'in rest of the Sheels of Answer Sheel. :
W @ @ IR, SOv-giedeT & orel Ay gul A kel
3. Answers may be given in English or Hindi.
. 7o) & Iaw st arerar faeet A dort e
PART - ‘A’
1. Attempt any ten questions : - ' (10x2=20)

WAN stands for ......ccocceereerenes
(b) Whatis Internet Service Provider (ISP)?
,.CG)’/What are the different network connecting devices?

iy (d) Why itis necessary to have layering in a network?
(e) Number of links to connect n nodes in a mesh topology is = ...........

o 1141 SR AORRIOGY {8 OO BIEIENET, e e
" (6) \sihere any relationghip between tgansmission media and t

TOTOM
ROM stands for ... M B a e
ondary memaory.

Explain the difference between primary memory and sec

/fk)( Name the differem EE&&Jeﬁd{bfiﬁﬁlm%@l&g reyb its.in/

() Howthe media help in storing datain a computer system?
% @m) Explain the difference btween network and distributed system.

Define network topology.

empt any five questions :
Define network. Give its advantages.

Define hub. Explain the differenttypes
@ How is bridge different form a repeate
of each?

Explain in brief why com
you mean by entropy reduction?”
ne to remote office?

-

(5x4=20)

of hub.
¢? What are the advantages and disadvantages

pression is needed in storage media.
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